381

Ethic
Cari
Lacod
Rules
Instr
Indep
Jobatt
Jobin
Jobau
Jobsi



Jobiv
Jobex
Jobexs
Jobss
Jobsc
Jobexo
Jobow
Johop
Jobos

Comm

R

R2change
F (F)

Beta

SEb

SEest



( 4 - 7)
4
L
2.
3.
4
(X =3.70)
(X=3.92)
(X=3.65)

(X = 3.61)

3.92

3.65

3.61

3.70

60

67

53

AT

103



© ©o N o o1 B o w D e

_ =, =
W D e O

(X = 3.82

3.78

(X = 2.68)

X SD.
384 .64
382 .63
378 .76
375 66
373 69
369 .93
369 71
369 .70
365 71
359 .68
353 .74
352 83
268 .89
361 53
(X= 3.61)
(X= 3.84)

104



(X

A0)

U

(X

= 3.99

3.98

» 39)

4.04
3.99
3.98
3.93
3.90
3.89
3.87

3.80

3.92

(X

.67
.66
.66
74
.73
.70
72

.80

.60

3.92)

105
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1
1
X
1. 409 .70
2. 3.93 .82
3. 3.91 79
4. 3.80 .85
5. 3.80 .78
6. 3.78 .88
7, 3.71 .88
8. 3.48 .92
9. 3.40 1.10
10. 327 .95
11. 3.00 121
3.65 .67
7
(X = 3.65)
(X = 4.09)
(X = 3.93 3.91 )

(X = 3.00)



3.93

2 8 - 13)

4.27
4.14
4.13
3.93

3.69

3.98

8 !

(X = 3.98)

(X =4.27)

.52

.53

.55

51

.53

41

(X

107

4.14, 4.13

(X =3.69)



(X

4.39

(X - 3.93)

4.20

(X =3.30)

4.48

4.39

4.20

4.00

3.71

3.40

3.30

3.93

.58

.62

.80

a7

.87

.85

.84

51

(X

108

=4.48)



10

10

(X = 3.99)

(X =4.34

4.32

4.43

4.34

4.32

3.99

4.27

(X = 4.27)

(X

= 4.43)

S.D.

.60

.64

.67

.80

.52

109
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1
X
1 5 R
, T
3. 4.% 72
. M B
8%
o419
o - 43
)

(X = 3.79)
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X S.D
1. 431 68
2. 412 74
3. 383 .81
4. 3.77 .86
5. 354 .77
6. 350 .87
7. 277 1.20

3.69 .53

12
(X = 3.69)
(X =4.31) ' v
(X = 4.12 3.83 )

(X =2.77)



13

13

(X

= 4.14)

(X = 4.21)

X

4.21 69

4.21 68

4.14 69

4.01 76

4.14 53
(X =4.14)

(X =4.01)

112



( 14 - 22)

14

14

(X = 3.54)
(X =3.73)

= 3.93

39
413
3%
3P

303
316
371

3

340
348
34
33

an

B IS8R BsEES

(X = 4.13)

3.92 )

(X =3.40)

(X

(X= 3.71)

= 3.99)

113



15

15
(X =4.13)

(X = 4.31)

(X = 3.62)

4.31

4.29

4.25

4.23

4.12

4.07

3.62

4.13

(X =4.29

.63

.57

.60

.61

.62

.67

.78

A8

11A
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X
4.12 67
4.07 67
4.07 64
4.03 57
3.97 65
3.72 77
3.56 77
3.94 49
16
(X = 3.94)
(X =4.12)
(X = 4.07 4.07 )

(X = 3.56)



(X

17
(X =3.92)
(X =
=4.14, 4.00 4.00

4.18)

(X = 3.60)

4.18

4.14

4.00

4.00

3.86

3.86

3.82

3.77

3.60

3.92

.67

.70

.73

.69

.83

.67

.69

.90

.95

.58

116



18

18
(X=3.71)
(X = 3.91)

(X = 3.90

3.86

3.91
3.90
3.86
3.77
3.65
3.64
3.61
3.57

3.49

3.71

)

(X =3.49)

.82

.75

.74

.74

.84

.79

77

.87

.80

.61

117



3.77

19

19

(X= 3.76)

(X

(X = 3.61)

4.07)

4.07

3.78

3.77

3.71

3.62

3.61

3.76

.67

.84

.66

72

.80

.79

.55

(X

118

3.78



20

(X = 3.58

3.51

(X

20

=3.25)

(X

= 3.48)

3.68

3.58

3.51

3.50

3.49

3.38

3.25

3.48

a7
.65
.79
.88
.82
.82

.82

.62

(X = 3.68)

119
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X S.D
3.56 .85
: 3.49 .85
3.48 86
3.44 78
3.41 .90
: 3.39 82
3.29 77
3.44 66
21
(X = 3.44)
(X = 3.56)
(X = 3.49 3.48 )

(X =3.29)




22

22

(X = 330)

(X= 315

(X =3.45)

X

3.45 .85
3.38 1.01
3.37 91
3.33 .89
3.32 91
3.24 .92
3.15 .96
3.15 .88
3.30 72
(X=3.38

3.37

121



23

.55

51

.37

42

45

.37

.70

.61

.52

.57

.53

.68

.59

.56

.52

.66

.55

.64

.55

(r)

p-value

.000

.000
.000
.000
.000

.000

.000

.000
.000
.000
.000
.000
.000
.000
.000
.000
.000
.000

.000

»

122



05

.05

23

55)

—_
11

05 (=51, 45 42, s

.05 (r = .70)

.05 ( =.68, .61, .66 .59

123

37
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(Ethic)
(Carin)
(Lacod)
(Rules)
(Instr)
(Indep)
(Jobatt)
(Jobin)
(Jobex)
(Jobexs)
(Jobexo)
(Comm)

*P < .05

Ethic

.82*
76*
78*
.83*
76*
.68*
.63*
.64*
.63*
.58*

.55*

Carin

.55*
.50*
.54*
49*
57
49*
.56*
S1*
.53*

S1*

(Correlation Martix)

Lacod Rules Instr
.62* -

46* 59*

.55* .52* .58*
A3* A9 59
A5* A6* .53*
.38* 45* .56*
.39* AT* 54*
.34* .39* 52*
37* A42* A45*

Indep

S7*
57
.51
57
42*

37

Jobatt

.88*
9r*
91+
.90*

70*

Jobin

73
78*
.63*

.61*

Jobex

.90*
.96*

.68*

Jobexs Jobexo
74*
.59* .66*

Comm
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24 (Ethic)
(Comm) .05 ( =.55)
(Carin) (Instr)
(Rules) (Lacod)
(Indep)
.05 (r= .51, 45, 42, 37 .37
)
(Jobatt)
05 (r- .70)
(Jobex)
.05
(r = .68) (Jobexo) (Jobin)
(Jobexs)
.05 ( = .66, 61 .59



25

solution)

25

(R2) 485

.05

(R2change = .011)

48.5

10&

(R)

(R2
(R2change)
(Stepwise
1? 1
R K R change F p-value

696 485 485 356.347 o000

704 495 011 7952  .005

.05

495 (R2 - .495)

49.5

11
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26 (b)
(Beta)
b SEb Beta t p-value
(Jobatt) .362 .030 601 12.075 .ooo0
(Ethic) 220 .078 .140 2.820 .005
(constant; a) 15131  6.087 2.486
R = .704 R2 = 495 SEes, = 6.087
Overall F = 7.952 p-value = .005
26 ' (Beta)
Beta (Jobatt) (Beta = .601)

(Ethic) (Beta = .140)

15.131 + .362 + .220

= 601 +.140
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(R)

(Stepwise solution)

(R2 change)

.637
.690
.709
721

731

R2 R2 change

406
A7t
.503
520
.535

(R

- .406
071
.026
.018
.015

F

258.775
51.212
19.778
13.788
11.770

p-value

.000
.000
.000
.000
.001
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27 1
(Jobop)

(R?) 406
40.6 05

2 (Jobau)
ATT (R2= .477) .05

47.7
7.1 (R2change = .071)

3 (Carin)
503 (R2=.503) .05

50.3
2.6 (R2change = .026)

4 (Jobow)
520 (R2= 520) .05

52
1.8 (R2change = .018)

5 (Johsi)
535 (R2= 535) .05

53.5
15

(R2change = .015)



130

2 (b)
(Beta)

b SEb Beta t p-value

(Jobop) 1072 20 289 56000

(Jobau) 638 257 124 2.480 014
(Carin) 883 200 186 4412 000
(Jobow) 645 187 163 3449 001
(Jobsi) 801 260 178 3431 001
(constant; a) 9.731 6.117 1591
R = 13l R = 53 SEest = 11-73
Overall F = 11770 p-value = 001
28 (Beta)
Beta (Beta = .289)
(Beta = .124) (Beta = .186) (Beta =
163) (Beta = .178)
= 9731 + 1.072 + 638
+.883 + 645
+ 891
= 289 + 124
+.186 +.163

+.178
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